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B e = 168, 905, 036
I+ T = 59, 781, 545
PEHI T Y 5,194, 857 | #m il 6, 100 m3
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b 1 =
T CEBL- ERIRY B&Te) ;
b 1 =
T CEBL- ERIRY BE8Te) ;
b 1 =
T CEBL- ERIRY BE8Te) ;
HE A 1 =
FEHI T (ICT) = 5,615, 757 |#EHI (ICT) 6, 100 m3
L4
b 1 =
T CEBL- ERIRY &L |
b 1 =
T CEBL- ERIRY &L |
b 1 =
T CEBL- ERIRY BE&Te) ;
HE A 1 =
AT Y 3,225,880 | &I (5E42) B+ 190 m3
PR (L) ik - 700 m3
AR (L) 2,700 m3
AT Y 174,428 | B&MAR (FL32) B 1+ 170 m3
b 1 =
T CEBL- ERIRY BE8Te) ;
FEIA (-27) 1 =
BT = 88,278 |MhmEEK 1 10 m3
b 1 =
T+ CEBL- ERIRY 1E8Te) |
FEIA (-27) 1 =X
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R EETE T (ICT) = 15,982, 385 | EmHETY (G) 1:356) (1CT) 2,230 m2
EEEETE (B 5R) (ICT) 2,520 m2
EEEETE (B 5R) (ICT) 4, 940 m2
WEE DA
A 1 =
K+ - B
+wWCEs- ERRY £ET)
TR B 1 K
et T Y 29, 499, 960 | b5 EHE 1 =
{RIE S ~ R 5
+wWCEs- ERRY £ET)
A (b=27) 1 =K
HE A 1 K
R L 2V 71, 980, 375
LT 2V 5,292,084 |FRHEY 1 =K
HWREL 1 =
FEIH ¥ IE 1 =
A (b=27) 1 =K
A 1 =
SR M S~ & 4
+wWCEs- ERRY £ET)
A 1 =
IRIE S5 ~ e b 5
+wWCEs- ERRY £ET)
HE A 1 K
FAET Y 6, 500, 160 |av7)=}7" ny) HLAkE 288 m
H-p-18-F ;
/) =7 my) T = 46, 637,920 | KAEISEIET ny /iR 424 m2
FB-1-T120-200-N2. 0  JHEAKY—IE ;
WEAET ny )R 2,088 m2
a7 vy KV
HEEAEY L 2V 3,197,600 | [mEET 124 m
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AT 25 m
/NETIES
S E R T v 4,626, 150 | 7> Zvy b (ZEXFERY) 2 m2
2B (2 AR, BAY, MiGATV Ak, BIFEA15~20cm
Ty M (B 131 m2
3B (2 AR, BAY, MigATV Ak, BIFEA15~20cm
2 Ty b (B 19 m2
4B (2 AR, BAY, BiGATV Ak, BIFEA15~20cm
R T 2V 5,726,461 |jEZ 2,730 m2
2 Fl - R A 2,210 m2
Wy 2,210 m2
) xfvy7avh FEH AmA L JE 0. 02mmfEE
HEBET 2V 7,731, 800
7" VAL AMAERE T Y 7,731,800 |7 VEyAlERE 13 m
LW-H1700-BI-2000 ;
7" VA MARRE 40 m
LW-H1800-BI-2000 ;
7" VA MARRE 40 m
LW-H1900-BI-2000 ;
7" VA MARRE 40 m
LW-H2000-B1-2000 ;
7" VA MARRE 12 m
LW-H2100-BI-2000 ;
7 VA MARRE 4 m
LW-H2400-B1-2000 ;
AN =T = 2,326, 530
7 VANV =} L = 2,326,530 |7 VFAME v/A 9 m
BX (R) -S (al) -B300 X H300 ;
7" VEYAME 9 A 9 m
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BX (R) -S (al) -B600 X H600 ;
7 VRYAME 9 14 m
BX (R) -S (al) -B1000 X H1000 ;
Pkt gD T 2V 1 11, 387, 350
LT =X 1 3,892, 130 |FRHEY 1 =K
HEL 1 =
HEL 1 =
k7 B A1 45 (30-20mm)
FEIH ¥ IE 1 2V
A (b=27) 1 =K
L4
b 1 =K
e B Hh S ~ R 1
T CEBL- ERIRY &) ;
b 1 =K
IR IE S ~ k5 5
T CEBL- ERIRY &) ;
HE A 1 K
e N 1 6,521,630 |7 V4ARUTLINE 12 n
PU-B300-L2000 ;
7 Vi A NURLAR 1 92 m
B1000 X H1000 (747" w3t A Al )
7 Vi A NURLAR 1 58 m
B1000 X H1000 ;
ny=7" T 46 &l
¢ 50 X 150 (EE6 H MAT)
£ K- 7k T 2V 1 973,590 |EIGHT HHEAKME 1 (530
MB7E (500 X 500 X 450) 18-8-25BB W/C=<60% ;
BUGFT B Rkt 1 (530
MB7E (500 X 500 X 550) 18-8-25BB W/C=<60% ;
BUGFT B Rkt 1 (530
MD7E (800 X 800 X 1200) 18-8-40BB W/C<60% ;
BUG T T 45 Kk At 1 i BT
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MF7E (1400 X 1400 X 1500) 18-8-40BB W/C=60% ;
BT B SRkt

MH7E (1400 X 1400 X 2080) 18-8-40BB W/C=60% ;
TENT &

¢ 19 W=300 Mg,
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2,074, 660
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2,074, 660

HATE (KRBT [ (A
P1-0.8-3. 0E(} =7 797)
VN ALY
NW-H500-1.2000 ;

170 m

38 m
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139, 790
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250 X 250 X 550 (ERR & T9) ;
WAL Vi

VU ¢ 150 ;
WAL Vi

VP ¢ 150 ;

26 m
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5,024, 550
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S

2y - MEIEW BEE L
SRS |

LiEIRC
TA77 W MEEEIR t=15cm

119 m3

199 m3

1,760 m2

HEIE Y I L T

2,376, 645

vy - MEIEW IEE L
S

vy - MEIEW IEE L
SRS |

LiEIRC
TA77 W MERZEIR t=15cm

122 m3

610 m2
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INTHET = 1,242,980 | 2> Zvy MitZ: 237 m2
FEE 1 =«
Felg e~ /v
FEIA (=27) 1 K
=2 ER
e 1 Y
INTHET = 809, 286 | 2> 2wy MitZ= 150 m2
FEE 1 =«
1l 2 RHSE~ B/
FEIA (=27) 1 K
=2 ER
e 1 =
AL PR T EN 1 2,892, 601 | AL 1 2V
)Y - bk )
re 1 2V
vy - bk (B
sre 1 2V
TAT7IVhER
ERILSS 119 m3
)Y - bk )
B LAY 199 m3
vy - b (B (B )
ERILSS 88 m3
TAT7IVhER ;
TE R ALER T = 1 1, 136,924 | R%iEH 1 =
)Y - bk )
sre 1 2V
vy - bk (B
sre 1 2V
TAT7IVhER
BTy 6 m3
)Y - bk )
ERRILSS 59 m3

30— b (B

i@ Aokt 5w m




PR NERE

TEHE4 | R 6B T F
THEXS - T - FER - va ¥ = & Hm a1l W 3
BTy 63 m3
vy - b (BRAG (B )
BTy 30 m3
TAT7V AR
RS Y 168, 905, 036
Il R = 13, 838, 674
s fEeE = 2,235,674
B gy Y 758, 674 |l T. 5B MEVER & 1 =
PRAFAE B (ICT) 1 =
YATARI L (ICT) 1 2V
Bl RIEUER (FE L) Y 1,477, 000
Il (it L) Y 11, 603, 000
il T = 182, 743, 710
Bl Y 43, 273, 000
T =5 = 226,016, 710
— R B Y 34, 733, 290
T =AM = 260, 750, 000
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